

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. POBOX 661 COIBY, KS 67701 INVOICE

Invoice Number: 130980

Invoice Date: Apr 26, 2012

Page:

1

OPERATOR PAY MDC

2012 45 YEARS

Gray 1-20

CustomerID	Well Name/# or Customer P.O.	Payment	Terms
Murfin	Gray # 120	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS2-01	Great Bend	Apr 26, 2012	5/26/12

Quantity	Item	Description	Unit Price	Amount
200.00	MAT	Class A Common	16.25	3,250.00
4.00	MAT	Gel	21.25	85.00
7.00	MAT	Chloride	58.20	407.40
216.53	SER	Handling	2.10	454.71
40.00	SER	Ton Miles	23.22	928.72
1.00	SER	Surface	1,125.00	1,125.00
40.00	SER	Heavy Vehicle Mileage	7.00	280.00
40.00	SER	Light Vehicle Mileage	4.00	160.00
1.00	CEMENTER	Wayne Davis		1000 Avery of \$100 (100)
1.00	EQUIP OPER	Joel Monahan		
1.00	OPER ASSIST	Garrett McLemore		
		2		
		01601		
		Q . 19/		
		Subtotal		6 690 83

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$2341.79

ONLY IF PAID ON OR BEFORE
May 21, 2012

Subtotal 6,690.83

Sales Tax 273.20

Total Invoice Amount 6,964.03

Payment/Credit Applied 6,964.03

Orduct W

## ALLIED CEMENTING CO., LLC. 042507

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Great Bench

		,					
DATE 4-24-12	SEC.	TWP.	RANGE 7	CALLED OUT	ON LOCATIO	N JOB START	JOB FINISH
_		20	LOCATION Lyon	S SAL TO	Aur E	COUNTY	STATE
OLD OR NEW Cit			4 Eq 3+ 4			18.66	
			1 E937 4	Noth 1245	- 1210		
CONTRACTOR V				OWNER ~	with	わったいにっと	
TYPE OF JOB S			·				
HOLE SIZE 12			312	CEMENT			
CASING SIZE & TUBING SIZE	7		TH 312	AMOUNT OF	DERED _20	DON Cla	55 M
DRILL PIPE	***************************************		TH	T376"	+296GE	<u> </u>	
TOOL			TH TH				
PRES. MAX			NIMUM	COMMON_2	200	01/-25	3250,00
MEAS. LINE			DE JOINT	POZMIX	,	@ 76:20	3200
CEMENT LEFT IN	CSG.	30	JD JOHN I	GEL	4	@ 21-25	85.00
PERFS.				CHLORIDE	7		407.40
DISPLACEMENT	18.40	BBLS		ASC		@	
		IPMENT					
	240	7. 1.101.1				_	81.
PUMPTRUCK	CEMENT	ED (a)				@	
	HELPER						
BULK TRUCK	IILLI LIX	000		•		@	
	DRIVER	Gave	H medium				
BULK TRUCK	214,21	<u> </u>	VACCA CO			@	
	DRIVER				211 62	@	11511 71
(				HANDLING	716.23	@ <u>2./6</u>	928. 2
	DE	MARKS:		MILEAGE _	1.08 7 40		
01-						TOTAL	2:122: €
			محصلا دئ-دباه	-: 64			
with Ris				-	SEI	RVICE	
Kyn 5 BB	the w	~ + C ~	Ahead		3		
141 X 200 S	18.600 C	0440	261226el		OB_312		
Shut	in	140 44	csh water		K CHARGE		. 90
Cement		e ?	1.10	EXTRA FOO		@	
Riso			ЩТС	MILEAGE_		0 7.00	280.00
				- MANIFOLD	um 4	0 @ <del>4.00</del>	160.00
					V MY	<u> </u>	100-
CHARGE TO: M	D 1				· · · · · · · · · · · · · · · · · · ·		
CHARGE TO:	Lacki	N 60.		-		mom.	1565.0
STREET				_		IOIAI	7360
CITY	CT	ATE	ZIP				
CII I	3ı	AIE	ZIF	_	PLUG & FL	OAT EQUIPME	NT
						_	
				-			
						@	
To Allind Comm	dias Cs		¥			@	
To Allied Cemen							
			nenting equipment			@	Laboratory and the second second
			to assist owner or	***************************************			
			he above work was			TOTA	L
			of owner agent or			TOTA	L
contractor. I have read and understand the "GENERAL			SALESTAY	(If Any)			
TERMS AND CONDITIONS" listed on the reverse side.		, UNLES INA	(11 Ally)——	9. 83	an and the same of		
500				TOTAL CHA	RGES 6.6	90.83	
PRINTED NAME	Juan	TINO	20			IF PA	
	^						
~~~~~~~~~~~X	()	4					



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc.

PO BOX 661 Colby, KS 67701 INVOICE

Invoice Number: 131041 Invoice Date: May 1, 2012

Page: 1



Sugt.

GustomerID	Well Name/# or Customer P.O.	Payment	Terms
Murfin	Gary # 1-20	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS2-03	Medicine Lodge	May 1, 2012	5/31/12

OPERATOR PAY MOC Gray 1-20

Quantity	Item	Description	Unit Price	Amount
135.00	MAT	Class A Common	16.25	2,193.75
90.00	MAT	Pozmix	8.50	765.00
8.00	MAT	Gel	21.25	170.00
56.00	MAT	FloSeal	2.70	151.20
235.00	SER	Handling	2.25	528.75
45.00	SER	Ton Miles	25.85	1,163.25
1.00	SER	Rotary Plug	2,225.00	2,225.00
45.00	SER	Heavy Vehicle Mileage	7.00	315.00
45.00	SER	Light Vehicle Mileage	4.00	180.00
1.00	CEMENTER	Ron Gilley		
1.00	CEMENTER	Jason Thimesch		
1.00	OPER ASSIST	Brandon Boor		
		,		
Subtotal				7 601 05

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNTIS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE May 26, 2012

Subtotal 7,691.95 Sales Tax 561.51 Total Invoice Amount 8,253.46 Payment/Credit Applied TOTAL 8,253.46

Orduct akin

## ALLIED OIL & GAS SERVICES, LLC 054073

Federal Tax 1.0	D.# 20-5975804
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
A CONTRACTOR DESCRIPTION	Medicine had
DATE 3 -1-/2 30 183 1W	ALLED OUT PM ON LOCATION JOB START JOB FINISH
LEASE Grary WELL# 1-20 LOCATION Lyons &	KS N to AVEE, JW, 14N Rice KS.
OLD ORNEW (Circle one) Finto	Signo HVEE, SW, 14 N DIEE 183.
CONTRACTOR Murfinz1	OWNER Musli
TYPE OF JOB Rotary Plug	J. Harper
HOLE SIZE 7-/82 T.D. 3320	CEMENT
CASING SIZE DEPTH TUBING SIZE DEPTH	AMOUNT ORDERED 2255x 60:40:476ge
11/	1 1/4# \$10 Seal
TOOL DEPTH  DEPTH	
PRES. MAX MINIMUM	COMMON AL MARIE HAT O DE
MEAS. LINE SHOE JOINT	COMMON Class" A" 18 @ 16.25 2,193.75
CEMENT LEFT IN CSG.	POZMIX 90 @ 8.50 765.00 GEL 8 @ 2125 1705
PERFS.	21,23 110,00
DISPLACEMENT	
EOUIPMENT	
EQUIPMENT	
DIMPERIOR OF THE STATE OF THE S	@@
PUMPTRUCK CEMENTER Ran Gilley	@ @
# 471-302 HELPER Jason T	
BULK TRUCK	
#30) DRIVER Brandon B.	@
BULK TRUCK # DRIVER	@
# DRIVER	HANDLING 235 @ 2.25 528.75
	MILEAGE 235 X , 1) X 45 1, 163,75
REMARKS:	TOTAL 4,971.85
Pump 35 s x at 33201	101AL 7/1101S
pump 35 5x at 1000'	CENTION
pump 355x at 650'	SERVICE
pump 355x at 350'	DEPTH OF JOB 3320
pump 25 sxat 60'	DEPTH OF JOB
plug sat & Mouse 30s x ea.	EXTRA FOOTAGE @
	MANIFOLD@
	Light Web. 45@ 4.00 180.00
	75 WEB. 75 W 1.00 180.00
CHARGE TO: Musfin	
CHARGE TO. 77Dagaz	4070
STREET	TOTAL \$2 720.00
CITYSTATEZIP	DI LIC 9 EL CATLECTUDADATA
	PLUG & FLOAT EQUIPMENT
27	@
To: Allied Oil & Gas Services, LLC.	
You are hereby requested to rent cementing equipment	@
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
in the state of th	TOTAL CHARGES # 7691.95
PRINTED NAME JUGN / 10000	DISCOUNT35% IF PAID IN 30 DAYS
1 2	es es
SIGNATURE Juan Emois	